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从大城市中迁出和主要原因第一个bar chart 是3D的，

是population decrease rate in manchester, birmingham, livepool and

somewhere :P 四个城市，百分比中间两个高40%上下吧，另外

两个低，第二个是households认为城市中最严重的问题 第一

是crime超过60%，第二是rubbish 40%多 还有noise, neighbour等

一共5个barwaste disposal become increasing problemhow do you

think it is trueand give some suggestion for goverment and

individuals how to reduce the rubbish being producing.task2Waste

disposal presents increasing problems, especially in urban areas.

How true do you think? give some suggestion for the government

and individuals how to reduce the amount of rubbish. 100Test 下载
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